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Section-A

(Very Short Answer Type Questions)

N : |
ote : Attempt all the five questions of

this section. Each question carries 3

marks. Very short answer is required

not exceeding 75 words. 3x5=15
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(Short Answer Type Questions)

Note : This section contains three questions.
Attempt “any two questions. Each
question carries 7% marks. Short

“answer is required not exceeding 200
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(Long Answer Type
questions,

v three questions. Each

Attempt any t
‘question carries 15 marks. Answer is
required in detail. 15x3=45

Explain' the problems of cotton textile
industry faced by Indian industry.
How was NITI Aayog formed? Explain

the functions of NITI Aayog

I+ When was Reserve Bank of Indid
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